


BapuaHTt

" Cucrema TH-OACA] Kombu

1. BHYTpPeHHWUU WITYKaTypHbIN
crnown 0,02m

2. KupnuyHaga knagka
(nycToTenbin Kupnuy) 0,25m

3. YTennutenb (MUH. BaTa)

4. [dekopaTumBHasa LUTyKaTypKa
0,005m



Ne

NOopAAKoB MaTtepuan
biN
1 228 BHYTpeHHSS 0,01 0,7 1800
LleMEHTHO-
N3BECTKOBAas
wtykatypka (OcHoBUT
T-21)
2 215 KupnuyHasa knagka ns 0,25 0,47 1200
NyCTOTENOro
KWPAWNYHOIo Kupnuya
M150
3 51 MwuHepanoBartas X 0,046 150
nnmta TEXHODAC
4 227 BHewHAa uemMeHTHO- 0,005 0,76 1800

necyaHas WTykaTypka
«CTtaparenu»



a =0,0003 B=1,2
Dd=(18-(-19))*191=3800,9 °C*cyT
Rreq=0,0003*3800,9+1,2=2,34 MZOC/BT

nN=1 tint=18 texx=-23 AQAint=8,7 at=4,5
Rreq=1%(18-(-23))/4,5*8,7=1,05 M2°C/BT

R >2,34

R eyw=1/8,7+0,01/0,7+0,25/0,47+0,005/0,76+1/23=
0,115+0,0143+0,532+0,0066+0,0435=0,711
AR=2,34-0,711=1,629

O=aR* A=1,629%*0,046=0,075

0=75MM

R =1/8,7+0,01/0,7+0,25/0,47+0,080/0,046
+0,005/0,76+1/23=0,115+0,0143+0,532+1,74+0,0066+
0,0435=2,45




BapuaHTt

" Cuctema TH-OACAL BeHT

1. BHYTpeHHuM WiTyKaTypHbIN
crnow 0,02m

2. KupnuyHaga knagka
(nycToTenbin Kupnuy) 0,213m

3. YTennutenb (MUH. BaTa)



Ne

nopsaakos
bIn

228

215

51

MaTtepuan

BHYTpeHHSS 0,02 0,7
LEMEHTHO-

N3BECTKOBAS

lwtykatypka (OcHoOBUT

T-21)

KupnuyHasa knagka ns 0,25 0,47
NyCTOTENI0ro

KMPNUYHOIo Kupnuya

M150

MwuHepanoBartas X 0,046
nnmta TEXHODAC

1800

150

150



R cyw=1/8,7+0,02/0,7+0,25/0,47+1/23=
0,115+0,02857+0,532+0,0435=0,719
AR=2,34-0,719=1,621

0= AR* A=1,621%0,046=0,08

0=80MM

R =1/8,7+0,02/0,7+0,25/0,47+0,080/0,046+1/23
=2,458



4a

46

BHYTpeHHASA LEMEHTHO- 0,01
N3BECTKOBAs LUTYKaTypKa
(OcHoBuT T-21)

KnpnnyHas knagka us 0,25
NyCTOTESI0ro KUPNUYHOIo
Knprnnya M150

MuHeparnosaras nnuiTa 0,08
TEXHODAC

CTteknoBaTHaga ceTka
5*5MM

KBapueBas rpyHTOBKa
(Bnnc-KoHTaKT)

BHeLWwHAA LeEMEHTHO- 0,005
necyaHas WTykaTypka
«CTaparenm»

Pacuer

Pacxopn 32 kr Ha
1m3 10MM;
MeLwok 23 kr-184
py6; 1-7,36 pyd

Kon-Bo wTt B 1Mm3
B2;1wWwT--3,5

142,9 py6

490 py6-1*50m

20kr-580 py6
pacxog 0,30
onp/n; 1kr-29
py6

30kr-270 py6;
1kr-9 py6;
pacxog 11-12kr
Ha 1M? npwu
0=10MM

CtoumocTt
b

7,36*32=
=235,32

341 py6

10,7 py©

9,8 pyb

8,7 pyo

54 py6

¥659,72py6



3a

MaTepuan

BHYTpeHHASA LeMeHTHO-
N3BECTKOBAs LUTYKaTypKa
(OcHoBuT T-21)

KupnnyHas knagka us
MNyCTOTESI0ro KUPNnU4YHOro
Knpnnya M150

MwuHepanoBsaras nnura
TEXHO®DAC

O6n1UOBOYHbIE NAHENN
EQUITONE

0,01

0,25

0,08

CtoumocTt
b

PacueT

Pacxop32krHa 7 36%32=

1m3 10MM; _
MeLuok 23 Kr-184 =235,32

py6; 1-7,36 py6

Kon-sowrB1mM® 341 py6
B2;1wWwT--3,5

142,9 py6 10,7 py6

LLT—616 py6 616
1Ix1m

¥1203,22py6



